H & 0 & A & M A
20239 204k LBHSIH nSHE D
AN DSBEI
B JEDE SLNL
&t 22X HEXA EEREE)
SA - B B(30) - HSAIY - BAS Ol &kt e HImE2
nEHE D 13,049,941 15,219,092 A2,169,151
= 2,213,400
s 220,000
= 1,089,637
Al 9,526,904
sws s8X3 12,986,351 15,152,002 A2,165,651
= 2,213,400
s 220,000
= 1,089,637
Al 9,463,314
2+-gHd HEXH 6,859,439 5,620,087 1,239,352
= 368,000
s 220,000
& 552,117
Al 5,719,322
sl 2 HA HWEXA 3,569,501 3,319,461 250,040
201 Let2AL| 13,501 12,961 540
02 S324H| 13,501 12,961 540
OAlUIHA B3 20110l SAldl XIJ (=]
o) 13,501,000& 13,501
202 Ot 1,000 1,500 A500
01 =LHOd L] 1,000 1,500 AB00
OB (32 ) ArSI2-AE =8 018
500,000& 500
OdE2d 29 500,000& 500
203 PR =&l 5,000 5,000
03 Al FRIHRFAIY] 5,000 5,000
OusS8HFN ANHFISRFAY]
5,000,000& 5,000
307 2I2H0|™ 3,550,000 3,300,000 250,000
09 2+HEXZ 3,550,000 3,300,000 250,000
O2=gH RIBX 2,800,000,000& 2,800,000
OAILHHA His=2dd THEXA
750,000,000& 750,000
AMUBHA HEXA(MHEEZ) 17,000 13,000 4,000
207 A0 17,000 13,000 4,000
01 H1=H| 17,000 13,000 4,000
OHALS JIMEA(EaME) o7 89
17,000,000 17,000
AMUHA THEXZ (KX SHHZH2EZ) 602,041 772,522 A170,481
308 KXIEHHISO0I A 602,041 772,522 170,481
07 XIXISH2t2E2 602,041 772,522 A170,481
OAlLHHA 2SS HEXA
467,833,000& 467,833




SA wSHI W
33 sus s8X3
=Rl 2+gM WX (Gt M)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
OANUHA 25H 2 2 At~ HAX
el 71,400,000 71,400
OIS HA SLZAR 24
5,508,000& 5,508
O&aY uwsHl XN& 57,300,000& 57,300
Il Zelild HARY X 226,530 202,920 23,610
= 113,265
Al 113,265
307 2l2tol 226,530 202,920 23,610
= 113,265
Al 113,265
08 B=EHEXS 226,530 202,920 23,610
OZJ| Z2l0IgHA 238 A
226,530,000 226,530
= 113,265
Al 113,265
MaHA XA 736,000 0 736,000
= 368,000
= 55,200
Al 312,800
307 2lzZtold 736,000 0 736,000
= 368,000
[ 55,200
Al 312,800
09 2=HHEXS 736,000 0 736,000
OMaHA 2 X& 736,000,000 736,000
= 368,000
= 55,200
Al 312,800
SEHA XA 240,000 0 240,000
=S 72,000
Al 168,000
307 21201 240,000 0 240,000
= 72,000
Al 168,000
0 B=FHEXS 240,000 0 240,000
O=g4 284 24
240,000,000 240,000
=S 72,000
Al 168,000
SSHA X (XHA) 200,000 200,000
307 2I2t01 & 200,000 200,000
09 2+AHAEXS 200,000 200,000




SA wSHI W
Ha: (ZDE SN
&l 28X HEXA EEREED
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
O3gHA 2 &4 NE
200,000,000 200,000
SEE HA XE 257,000 312,000 /55,000
& 128,500
Al 128,500
307 glztold 257,000 312,000 /55,000
== 128,500
Al 128,500
09 2+AHAE2LS 257,000 312,000 55,000
OuSAAX S UEH HA X2 (40H)
257,000,000& 257,000
S 128,500
Al 128,500
HOISAl 2+SAMA M2 365,200 248,640 106,560
= 117,600
Al 237,600
301 EtE2 NS 365,200 248,640 106,560
= 117,600
Al 237,600
14 IIEt2d=s 365,200 248,640 106,560
OYQIEAl 23 A M2
100,000 x2062 122 355,200
= 117,600
Al 237,600
EHAIDIESHZD| St XIJA 9,357 9,357 0
[ 3,509
Al 5,848
307 2i2tol 9,357 9,357 0
== 3,509
Al 5,848
02 LB AMANHEL 9,357 9,357 0
OEAPIESZD| S&E X2 (4430H)
9,357,000 9,357
S 3,509
Al 5,848
BAPIEZN =8 XI& 206,810 196,907 9,903
& 62,043
Al 144,767
307 glzZtolA 206,810 196,907 9,903
= 62,043
Al 144,767
02 LB HAIHE L 206,810 196,907 9,903
O=Al H=Z M ===2 I (4430H)
206,810,000& 206,810




A DSHEI
A izns S8
=Rl 2+gM WX (St )
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
= 62,043
Al 144,767
CANE nEld 22 440,000 440,000 0
iy 220,000
Al 220,000
307 212+0| ™ 440,000 440,000 0
s 220,000
Al 220,000
09 2+HEXZS 440,000 440,000 0
OSAE nsERY (338 HA) 2Y
440,000,000 440,000
= 220,000
Al 220,000
nESsE H&AIS 5,375,306 8,508,409 3,133,103
= 1,845,400
= 522,520
Al 3,007,386
WSANEE SAE=> 399,000 353,000 46,000
201 et AL| 399,000 353,000 46,000
02 332G 399,000 353,000 46,000
QuEAds 722 20,000,000& 20,000
OuEANEZ MIIz(63BMA) & SHE(
25704 ) 368,000,002 368,000
OR0l &% 2 NESE = It SALl
5,000,000& 5,000
Ooxg /7 2 X2l 6,000,000& 6,000
WEHMAId=E HHl Y &= 1,306,900 1,281,200 25,700
201 etz AL| 43,900 45,200 A 1,300
01 ArR2teltl 21,900 23,200 1,300
OLHHEAl BAtE s ZAF 2=22(63])
3,900, 0002 3,900
OnEx™ 22 M 3,000,002 3,000
OBEIE DS (HI)ANLE BASY
15,000,000 15,000
02 2224l 22,000 22,000 0
ORESANSHS2I 2C|AIAE X2
2l 22,000,000& 22,000
401 AIEBIZL20HY| 1,263,000 1,236,000 27,000
01 Al&Hl 1,258,000 1,231,000 27,000
OLE dsII(8) *AZel
226,000,000& 226,000
OLZ WESAMSHOHII W SAHI0HA)
105,000,000& 105,000
OAIZE RIS SIS F0H(5MHA)
22,000,000& 22,000




PA WSHHY
33 sus s8X3
ol WSEE JHEA (St M)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
OgasEs XS F0H(20004, 730H)
42,000,000 42,000
OnsasE F0H(1600H) 45,000,000 45,000
O BA(XH M) S22
360,000,000 360,000
OnSAHHAIZS(OIEL MIIANEE 28) S
a1 2 Rxze 200,000, 0002 200,000
OSAl L HAREE Ale FHI(879H2)
58,000,000 58,000
OnESH£g olct=tet Al (20H4) &
N 80,000,000 80,000
OusaSI| A& (2H2A)
120,000,000 120,000
03 Al S Ch 5,000 5,000 0
ODSUATAILE Byl L =5
5,000,000 5,000
Sgus=t 249 N2 1,229,334 1,350,649 A121,315
=S 368,800
Al 860,534
101 1| 800,335 0 800,335
T 240,100
Al 560,235
M4 IIZtNZ2Z2XSES 800,335 0 800,335
OSguEsH 28 (20Y) 800,335
123 (BAIZH/F5Y)
2,010,580 =20 * 122 482,540
S 144,762
Al 337,778
EPNETE= Pl S 76,9603 20 H 6 9,236
= 2,771
Al 6.465
-HEZ2SE
9,620 x20H*12A| 2+#525=+150% 180,087
= 54,026
Al 126,061
ORIHE2Z2+E
9,620 x3H*7 Al 2++ 1002 x200% 40,404
s 12,121
Al 28,283
-Re22Sg
9,620 *4 H*11 Al 2t 162 *150% 10,159
= 3,048
Al 7,11
-4 282, Isdl S 77,909,000 77,909
=S 23,372
Al 54,537




A DSHEI
A izns S8
SRl wSEE JHE A (St )
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
201 Let2AY| 418,999 418,99
= 125,700
Al 293,299
01 A2l 195,099 195,009
OUHEAl xS
3,500,000& 3B+ 12& 126,000
L= 37,800
Al 88,200
OZY0ISXAAAE dXtZ
2,000,000 128 24,000
& 7,200
Al 16,800
O&Hl gxt= 6,360
-S| 300,000« 1CH+ 123 3,600
& 1,080
Al 2,520
-&=D| 45,0003 =2CH* 123 1,080
= 324
Al 756
-=JIEED| 35,000 x4CH* 123 1,680
& 504
Al 1,176
OAMSR4 298| 38,739,000& 38,739
& 11,622
Al 27,117
2 S==2g| 223,900 223,900
OXtks Xl2eld](18CH) 223,900
-iZH| 112,320,000& 112,320
= 33,6%
Al 78,624
AYTHISK U PEE S
111,580,000& 111,580
L= 33,474
Al 78,106
301 LetENZ 10,000 10,000
= 3,000
Al 7,000
11 HALAHIXIZZ 10,000 10,000
Oetdzd W=H| 10,000,000 10,000
T 3,000
Al 7,000
Sgusst &2 X2 48,000 48,000
T 33,600
Al 14,400




SA: DSHHD
YU IENS SN
ol WSEE JHEA (St )
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
405 XHakEISHI 48,000 0 48,000
[ 33,600
Al 14,400
01 RS ZF St 48,000 0 48,000
ONSEAX 015 SHNSHE [ 2 (104
) 48,000,000 48,000
[ 33,600
Al 14,400
WEAT OISEC S (XHA) 1,800 1,800 0
201 Yereg| 1,800 1,800
01 Al 22l 1,800 1,800
Odlo2Iis] Bag
100,008 92 #23] 1,800
HAZSA HAA(HEAR) 122,000 110,000 12,000
= 36,600
Al 85,400
401 AlHIL S| 122,000 110,000 12,000
= 36,600
Al 85,400
01 Al&H 122,000 110,000 12,000
OHAQHASZI|(BIT) A7 ¥ WH &X
10,000, 0002 +57H 2 50,000
=S 15,000
Al 35,000
OHASAR H=or 43|
6,000, 0002 * 1274 2 72,000
=S 21,600
Al 50,400
HASSEPAIAL(BIS) 22 80,000 80,000 0
201 Yereg| 80,000 80,000
2 22| 80,000 80,000
OHASHHDAIAL BIS(116MH2) & HAS
LH(3BPNA) RS 80,000,000 80,000
SAISHY 2 ARIAAY 2 5,872 5,764 108
308 XHXISHRIS 01 & 5,872 5,764 108
11 BI|2HSOICHEH A R 9| St ALS L 5,872 5,764 108
OHAISHEDR2IAAY 2Y
5,872,0002 5,872
Y=WSII= o OfLRIXl X 56,800 27,400 29,400
= 28,400
[ 8,520
Al 19,880
308 XHXISHHIS 01 & 56,800 27,400 29,400
= 28,400




SN NS
I EDE SLXD
ol WSEE JHEA (Gt M)
SN - ZE - EI(E) - IRAY - BaS 0f &t e HIDE2
= 8,520
Al 19,880
11 SIS0 B L H I E ARSI 56,800 27,400 29,400
OLsuWSIHE A OrelXl X
56,800,000 56,800
= 28,400
= 8,520
Al 19,880
O12l0], =01, H0ip 2SS FH| 150,000 150,000 0
401 AIEHIX 20| 150,000 150,000
01 AlIZHI 150,000 150,000
OO0el0] - =2l - BRSPS JHl * =
Kl2rel(450H4) 150,000,000 150,000
& etNEE Xy 150,000 0 150,000
S 75,000
Al 75,000
401 AIEHIZL S 0HYI 150,000 0 150,000
& 75,000
Al 75,000
01 Al<H| 150,000 0 150,000
SXE=clti(er™EIA) WA
86,400,000 86,400
= 43,200
Al 43,200
OZBIAQAHY NEAILS |
63,600,000& 63,600
= 31,800
Al 31,800
nSHEI YA 2 3,600 0 3,600
201 23| 3,600 3,600
01 AtR2t2lbl 3,600 3,600
OuoIds HAxE
100,000 9 *43] 3,600
=E0IZ BOPLFEIA S K [AE 2435 A 900,000 0 900,000
O-MOIR AR, SHIUA ]
= 900,000
401 AIEHIZ R 0HYI 900,000 0 900,000
= 900,000
01 AlEHI 887,000 0 887,000
Oz 23 =Xy X4
692,000,000 692,000
= 692,000
OstdiE ¢ =Xy &4
195,000,000 195,000
= 195,000




SA wSHI
33 sus s8X3
el NEEE HEA EEREED
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
02 Ze/l 3,000 0 3,000
OMOIZ YR FXE XA
3,000,000 3,000
= 3,000
03 AIZ2THHI 10,000 0 10,000
OMoIZ AR XY A
5,000,000& 5,000
= 5,000
OstdiE ¢ =Y &4
5,000,000& 5,000
= 5,000
FE0IZ SSRGS S N[ 2435 A 917,000 1,000,000 83,000
S-MlotZ et Rt & ]
= 917,000
401 AIEHIXL 20 917,000 1,000,000 83,000
= 917,000
01 Al&HI 915,000 1,000,000 /85,000
OHMIOtZetAt & F=XHE &4
915,000,000& 915,000
= 915,000
02 22/l 2,000 0 2,000
OMOZRIR & FRE T4
2,000,000 2,000
= 2,000
GX-C S+& & =& 5,000 5,000 0
201 =23 5,000 5,000
01 At 2tclBl 5,000 5,000
OG-t ST HEY Al 24
5,000,000 5,000
wNSoHNEH AF 751,606 1,023,506 A271,900
< 15,000
Al 736,606
= SEQ=H SsTI2HE 43 694,140 557,710 136,430
308 XA SHHISOI& 694,140 557,710 136,430
07 AXerM2LFE= 694,140 867,710 136,430
O=cd ssgel T 694,140,000 694,140
AT A2 (S E ) 5,000 5,000
305 =S 5,000 5,000
01 that=S 5,000 5,000
OLSAIZ2EH AL a2
5,000,000 5,000
SN ALY XIR 16,970 11,000 5,970
307 elztolA 16,970 11,000 5,970
02 LB MAIHE L 16,970 11,000 5,970
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SN DEBID
I aEH ANFS=E2L
el HsER (EHe M2
SN - ZE - EI(E) - IRAY - BaS 0f &t e HIDE2
02 S22l 24,280 24,280 0
oRER=a 19,000,000 19,000
OSAME Z208 |RX2=H|
330,000 x 12 3,960
ONRAELS S RS2
110,000 = 128 1,320
ASTHUEHE S0t & 4,030 4,030 0
201 B2 3,050 3,050
01 AFR2telsl 3,050 3,050
OXSAH Wz DXNAM S M
2,000,000& 2,000
OMgXt 2sttgs SX U=
3,000 3502 Xl 1,050
202 Oid| 980 980
01 =LHOHI 980 980
OXNSIUEHE H==0H|(X&EHSE SR
=) 980,000& 980
SEEXY 2L HE2 980 980 0
202 04| 980 980
01 =LHO LI 980 980
ORESAE XNeHH04t] 980,000 980
HE2SEZH (RS ) 26,800 28,800 A2,000
[2ZH(nSSF) 26,800 28,800 A2,000
Jl2ZH(nsdE ) 26,800 28,800 A2,000
201 Ler2Ed| 13,000 12,000 1,000
01 AFR-2t2l8l 13,000 12,000 1,000
FASAAIR2E 13,000,000 13,000
202 04l 9,000 12,000 A3,000
01 2L AL 9,000 12,000 23,000
OJI2gR=80id(25Y) 9,000,000 9,000
203 R8I 4,800 4,800
04 EAE2EERFAH 4,800 4,800
ORAMSZHLFEHI(302!015t)
400,000 123 4,800




